=X HAERTFH4HE DIN352 3 Piece, High Speed Steel

M1X0.25 32 5.5 3911-0001
MI.1X0.25 32 55 3911-0002
M1.2X0.25 32 5.5 3911-0003
[ Mi4xos3 [ 8% [ 7 | 39110004 |
M1.6X0.35 32 8 3911-0005
M1.7X0.35 32 8 3911-0006
M1.8X0.35 32 8 3911-0007
[ mx04 [ 3% [ 8 [ 39110008 |
M2.2X0.45 36 9 3911-0009
M2.3X0.4 38 9 39T1-0010
M?2.5X0.45 40 9 3971-0011
[ m2x045 [~ 40 [ 9 [ 39110012 |
M3X0.5 40 i 3911-0013
M3.5X0.6 45 13 3911-0014
M4X0.7 45 13 3911-0015

[ masxo7s [~ 50 [ T6 | 39110076 |
M5X0.8 50 16 3911-0017
MOX1 50 79 3971-0018
M7X1 50 9 3911-0019

[ wmexi2s [ s [ 22 | 3911000 |

M9X1.25 63 22 3911-0021

MI0X1.5 70 2 39110022

MIIX1.5 70 24 3911-0023

[ owmixi7s [ 75 [ 29 [ 39110024 |

M14X2 80 30 3911-0025
MI6X2 80 32 3911-0026

M18X2.5 95 40 3911-0027

[ wmeoxes [ 9% [ 40 [ 39110028 |

M22X2.5 100 40 3911-0029

M24X3 110 50 3911-0030
M27X3 110 50 3911-0031

[ mixs5 [~ 128 [ 56 | 39110032 |

M33X3.5 125 56 3911-0033

M36X4 T50 &3 3911-0034
M39X4 150 &3 3911-0035

[ mdx45 [ 10 [~ & [ 3911003 |

M45X4.5 160 70 3911-0037

M48X5 T80 75 39T1-0038
M52X5 T80 75 3911-0039

[ Mééx65 [~ 20 [ 8 [ 39110040 |

M60X5.5 200 85 3911-0041

M64X6 220 90 3911-0042
MEBX6 220 90 3911-0043




